DAILY HOMEWORK FOR CLASS -4
14/05/2020

WRITE:

ENG LANG:-

1- Write the definition of feminine gender. Give examples.
2- Draw and colour any 4 feminine gender.
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(CHAPTER-NOUN- GENDER — VEDIO- SESSION -1)
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LIT: 1- Write the given activity in the video.
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( VIDEO - SESSION-2- PART-3)

*kkkkkkkkhkkkkkkkrikkk

SCIENCE:-
Q- Write the uses of non green plants?
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(THE GREEN PLANTS PRODUCERS OF FOOD -VIDEO- PART-2)
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MATHS:- Solve the question no: 1 and 2 picture given below in HW.
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(VIDEO- NUMBER SYSTEM —SESSION-6)
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S.ST- Explain term — Island
Q- Write the name of two Island groups.
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(VIDEO - CHAPETR -1 - SESSION-3 — PHYSICAL FEATURES OF INDIA)
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COMPUTER:-

Q- Write down the names of different parts of CPU.

A- The CPU stands for Central Processing Unit .There are three parts of it-
1- ALU- Arithmetic and Logo Unit

2- CU- Control Unit

3- MU- Memory Unit
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LEARN:
ENG LANG: Definition of feminine gender with examples.

ENG LIT: all word meaning of the lesson



SCIENCE:- Written work
MATHS- Learn the table of 16 and 17
SST: Written work.

COMP: Written work
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*********************************************************M AT H S W OR K S H E ET*************************

Skip Counting

Suppose, stating with a goven numbes, we wrile 2 seguence of numbers with a fixed gap between two
successrve numbers, then such a counting is known 25 sho countiag

Counting by twas means there 15 2 g0 of 2 in every two successive numbers

Counting by tens means there = a gap of 10 n every two successive numbers, and so on.

Example 3: Counting by fives write numbers from 26819 to 26844,

Solution The reguired numbers are:

26819, 26824, 26829, 76834, 76B19, 26824,

m Exercise 4

1. Find the place value of the underlined digit in each of the following numerals.

(a) 10791 (b) 23076 (c) 46307 (d) 235541

(¢) 8§37.209 (1) 5247296 (g) 35.61.209 (h) 2.75.600
2. Find the place value of each of the digits in the following numerals.

(2) 3217 (b) 61450 (e) 213,504 (d) 3860429

3. Find the difference between the place value and face value of 6 In 4.61,503.
4. Find the ddference between the place values of 3 and 7 in the numeral 103,476
5. Find the dafference between the place values of 8 in 48,96,500 and 15,B0,776.
6. Write each of the lollowing numbers in expanded form.
(a) 24308 (b) 123527 (e) 3.09.057
(d) 429,010 {¢) 1607.503 (f) 8060719
7. Write each of the following in short form.
{2) 10000+3000+500+-70+E=
(&) 30000+ 700 «B0+4=
{c) SO0 +40+3=
{d) 20000+1=
(e) 2,00,000+ 4,000+ 100+ 3=
{f} 3000000 + 60,000 + 5300 =
(2) S.00000+3000+7=
B. Write the successor of each of the following numbers.

(2) 13579 (b) 23.000 (¢) 29,099 (d) 34999

() 451399 () 2867009 (g) 35,59.999 (h) 99.99.299
9. Write the predecessor of each of the following numbers.

{2) 33000 (v) 43700 (¢) 9,100 (d) 1.20.000

(¢) 4,05.000 () 28.60.100 (g) 6631700 (h) 6B.10,000



